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Note : Attempt questions from each Section as per 

instructions given under each Section. 

  

Section—A 

Note : Attempt any two questions from this 

Section. 2×20=40 

1. What is Gambler’s ruin problem ? How do you 

determine the duration of a biased and an 

unbiased walk ? Explain.   

2. What is Cramer-Lundberg approximation in 

classical risk theory ? Explain the collective 

risk model.   
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3. What is Multiple Lives Model ? How is it used 

for pricing the assurance product ? How is it 

different from Multiple Decrement Model ?  

4. Why is reserving important in insurance ? 

Which of the reserving techniques you would 

like to use for insurance industry ? Give 

reasons in support of your answer. 

Section—B 

Note : Attempt any five questions from this 

Section.  5×12=60 

5. Explain the concept of ‘term life insurance’. 

6. What is the difference between Exponential law 

and Gompertz’s law of mortality ?    

7. Explain the following terms : 

(a) Probability Density Function (PDF) 

(b) Markov process 

(c) Stationary increments 

8. Distinguish between single payment and multi- 

payment cases in reinsurance pricing. 

9. Explain unearned premium reserve. How is it 

different from unexpired risk reserve ? 

10. What is an extreme event ? How is extreme 

value theorem used by an insurance company ? 
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11. What were the main objectives of 

nationalisation of insurance companies ? What 

are the investment patterns specified by the 

government for LIC and GIC ? 

12. Write short notes on any two of the following : 

(a) Moment Generating Function (MGF) 

(b) Excess Loss Reinsurance 

(c) Capital Asset Pricing Model (CAPM)   
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